2- @XiE3,

oYL FEZ . Bt G
| .
e & nE ] §l—
1 |mmmae 118 T o 2
2 |FEBRIREE 1% ot = =
3 |cmmm 118 i P L
= B -
e 1KY \ 5 H b h siluil el x|yl 2 1P CEBillg | E=2
dl a1 | &1 Bearing | Snapring | KG
AF10 | 8 | 20| 70 | 43| 35 | 25 | 36| 35| 52| 9 | 14| 11| 6082z so8 | 0.37
AF12 | 10 [ 20| 70 [ 43| 35 | 25 | 36| 35| 52| 9 | 14 | 11 | 6000ZZ si0 | 037
AF15 | 15 | 20| 80 [ 49| 40 | 30 | 41| 40| 60| 9 | 14| 11 | 60022z 515 0.45
AF20 | 20 | 26| 95 [ 58| 475| 30 | 56| 45| 75 | 11 | 17 | 15 | 62042z s20 | 075
AF25 | 25 | 30| 105 | 68| 525| 35 | 66| 25|85 | 11| - | - | 62052z S25 0.95




